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1. Explain with relevant waveforms and neat diagram, the voltage build-up process in shunt generators.   (08)
2. A 6-pole dc machine has 300 conductors and each conductor is capable of carrying 80A without excessive temperature rise. The flux per pole is 0.015 wb and the machine is driven at 1800 rpm.

Compute the total current, emf (Ea),power developed in the armature and electromagnetic torque, if the armature conductors are:    (10)


(a) Wave Connected

(b) Lap Connected.


3.  The daily variation of load on a 100 KVA transformer is as follows:
8:00 AM  to  1:00  PM   ----------   65 KW,45 KVAR


1:00 PM  to  6:00  PM   ----------   80 KW,50 KVAR

6:00 PM  to  1:00  AM   ----------   30 KW,30 KVAR
1:00 AM  to  8:00  AM   ----------   No-load.

This transformer has no-load core loss of 370 watts and a full-load ohmic loss of 1200 watts. Determine the all-day efficiency of the transformer. (12)

4. Explain the parallel operation of single-phase transformers with relevant phasor diagram under no-load conditions.  (06)
5. Explain the working function of ON-LOAD tap changer on transformers. (07)
6. Explain the principle of commutation for DC machines with the help of relevant diagrams.

(07).

